


1. FAeferted wa=t # 9 FF-9 9d & a H 98l 272
ol 3T & =TT g ALTATET FHiE T ITTNT I STU-

Which of the following statements are correct about
India? Use the code given below to select the correct
answer-

1. AT & &7 Ii=4ai a7 29 2
India is the fifth largest country in the world.

2. T TIAHSA o Tl &FFHA T AT 2.4 Jiaerd

AT STerd 56 g0

It occupies about 2.4 percent of the total area of
the lithosphere.

3. HHHAT AT ICUrhicael § fFora g

The whole of India is located in the tropics.

4. 82°30 T4l LT KT ITTNT ATLATT HTAH
THI Al T Y o ol 63T Srar gl

82°30' East longitude is used to determine Indian
Standard Time.

%<: Code
(a) 13T 2




2. 876 hl I8 | AT T fasd o q90f | hld-97 19 872
What is the rank of India among the countries of the

world in terms of area?
(a) 9T=4T Fifth

(b) BT Sixth

(c) |TA4T Seventh

(d)

d) saat Eighth




3.97TLqay | SR foha e T 872
Approximately how many villages are there in India?

a) 5 @ta / 5 lakh
b) 6 <t 30 g=11X / 6 lakh 30 thousand
c) 8 «ta / 8 lakh

d) =I5 & ®IT A5 / None of these

(
(
(
(




4.997Cq fa&qq e-
India 1s wide

(@) 37°1753”3. TAT8 6 28”%. & &4
37° 17'53" N. and 8° 6'28" S. In between

(b) 37°1753”3. AT 84 28”T. & &1
37° 17'53" N. and 8° 4'28" S. In between

(c) 37°17537qAT 8 28’3, & &l A
Between 37° 17'53" and 8°28' N

(d) ITAE § | IS Al

None of the above




5.1 & IS aTaT sterier e § ° fha us
q AT FIHT [T 82
The latitude passing through Sikkim also passes
through which one of the following?

(a) TSTEATT Rajasthan

(b) =TT« Punjab

(c) feaT=e w=er Himachal Pradesh
(d)

d) STF-FHHIT Jammu and Kashmir




6.5 L@T fAHteriad # & fohe T3l & grah< [eTd ]
&? = U U %2 | Y 3T M-
Tropic of Cancer passes through which of the
following states? Select the correct answer from the
code given below-

1. A 2. TS

Gujarat Chhattisgarh

3. 3T 99T 4. TGS
Uttar Pradesh Jharkhand




7. HTad | § RIF-97 AT T LT Feh <@l & 3%
q frd 872
Which of the following Indian states is located to
the north of the Tropic of Cancer?

(a) FTXE@< Jharkhand




8.5 U H, A% T & | gl u¥ o &t sratfe
TSI Bl 872
In the month of June, at which of the following
places the day length is maximum?

(a) garaTE Hyderabad

(b) =<5 Chennai
(c) |9t Bhopal
(d)

d) fee=tt Delhi




O[S o Fad GIHT T 3T XA T3
Y AT BT 92 B AT o 997 | Foha = &1
AT INIT?

How many hours will there be a gap between the
time of Walang, the westernmost village of Gujarat
and the easternmost point of Arunachal Pradesh?

(a) 1 =<1/ 1 Hour

b) 2 =T/ 2 hours

(b)
(c) 3 =T/ 3 hours
(d)

d) %% =21/ Y% hour




10. ATATT HIFE FHT sht T A5l [l 8-
The meridian of Indian Standard Time does not

pass through-
(a)3Ter T=or & from Andhra Pradesh

(b)s=HE e & from Chhattisgarh
(c) HeTTr¥ & from Maharashtra
(d)

d)3ITT T & from Uttar Pradesh




11. T HTHF 99T T 29ma¥ @ (82°30) e
T H ZehT eIt a7
The longitude line (82°30") of Indian Standard Time
passes through which city?

(a) ARTYT Nagpur
b) fa=ett Delhi

(b)
(c) 9T Patna
(d)

d) 2=TereT< Allahabad




12. AT T gaL&T qiervft fa=g (Southernmost Point) &-
The southernmost point of India is-

(a) FATHHTI 9T At kanyakumari
b) TrE*a¥H 9% At Rameshwaram

(b)
(c) Efe¥T waTee ¥ At Indira Point
(d)

d)TaTEe FTeET 9T At Point Kalimer




13. AT T Steroraw favg gl g7

Where is the southernmost point of India?

(a) FATHATL Kanyakumari

(b) =eT fA=ETX Big Nicobar
(c) =eTaiT Lakshadweep
(d)

d) Ha19 Madras




14,  TXA o TSI &1 AHed § 8 iF-97 Th [,

qIH QAT 3T Ty arrHl TsT Sl TR FLdr g2
Which one of the following pairs of states of India
Indicates the easternmost and westernmost state?

(a) 3TEH 3T =TT Assam and Rajasthan

(b) SO TaeT 3T T Arunachal Pradesh
and Rajasthan

(C) 3TEH 3T [orara Assam and Gujarat

(d) TEOTT= =T 1T [erera Arunachal Pradesh
and Gujarat




15. 9TXd T ggX arH 7 fo+g -
The far west point of India is-

(a) 68°7  Ti%IH, eT<rd |/ 68°7' West, in
Gujarat

(b) 68°7 Tl=I|, TrSTeATH | / At 68°7' West,
Rajasthan

(c) 68°7 QAT IS W/ 68°7' East in Gujarat

(d) 68°7 " Id T(EATH H / 68°7' East in
Rajasthan




16. o TedTery EYUd § A< &-
The Lesser Himalayas is situated in the middle-

(a) < feaTera 3R dAsa AT

Trans Himalaya and Great Himalaya

(b) frarferes 3R FeT feddTerd

Shivaliks and the Great Himalayas
(c) e fearer 3t Rrarfos
Trans Himalayas and Shivaliks

(d) Rrarfers 3R ar RaTera

Shivaliks and Outer Himalayas




17. farafafad gt & dla-ar g@ & uffeT &7 3R
g fRIERT &1 TR e 2
Which of the following groups is the correct
sequence of mountain peaks from east to west?
(a) TRECS, HaASdN, Headqull, SR
Everest, Kanchenjunga, Annapurna,
Dhaulagiri
(b) HIASIN, TAIFC, e ull, SR
Kanchenjunga, Everest, Annapurna,
Dhaulagiri
(C) PIASTI, AR, HeAqUll, TREC
Kangchenjunga, Dhaulagiri, Annapurna,
Everest
(d) TaEe, daeN, YienfaR, eaqom
Everest, Kanchenjunga, Dhaulagiri,
Annapurna




18. ST&IUT AR &1 Faq F AT §-
The highest peak of South India is-

() 3rSHST Anaimudi
(b) areraer Dodabeta

(c) 3TdFhed Amarkantak

(d) Ag=gPIX Mahendragiri




19. AfafR gdaarer 5w v # g §, g8 §-

The state in which the Nilgiri ranges are located is-

(a) dfderarg Tamil Nadu

(b) HATRTY Maharashtra
(c) 3nf3em Odisha

(d) 3a3@us Uttarakhand




20. -1 1 gE-11 & Ty gafoa Hifee iR gt
& T U 9T He B YIART A HEl SR JfAT-
Match List-1 with List-1l and select the correct
answer using the codes given below the lists-

- -1
List-1 List-11

AFEr g1t 1. RAfded
Markha Valley SIkKim

B.og Ordl 2. fRdATRIST UGer
Juku Valley Himachal Pradesh

C.ENTel giél 3. SIFH IR HdAR

Sangla Valley Jammu and Kashmir
D.YYAMT ©1&T 4. ANNAUS
Thoothang Valley Nagaland

(a)
(b)
()
(d)




21. olmar °er fopa Toa & &g g2

In which state Is Nelang Valley located?
(a) TedATaer ucer Himachal Pradesh
(b) T&fFRa Sikkim
(c) STFH T AR Jammu and Kashmir

(d) 3a3@us Uttarakhand




22. AT # 4§ Bld T Hel GAfeId el &7
Which one of the following is not correctly
matched?

(@) IAET & - SIFH Td AR
Chang La - Jammu and Kashmir
(b) Tgdrar - fRATIST UGeA
Rohtang -  Himachal Pradesh
(c) JATS &T- 37UMTd YT
Bomdi La - Arunachal Pradesh
(d) | o — STRIEUS
SelLa - Uttarakhand




23. Urorgre [Aeafeif@a & 8 fhas asy g §2
Palghat is situated between which of the
following?

(a) AR 3R FEAA ggIizar

Nilgiri and Cardamom Hills

(b) AR 3R eATos geIsar
Nilgiri and Annamalai Hills

(c) HeaTels AR HPSHAA TeIfsdr
Annamalai and Cardamom Hills

(d) PEHAA TgrisaAr 3R urferd gerfsan

Cardamom Hills and Palini Hills




24, fAFfaf@d # 9 @i T gAferd 0 &2
Which one of the following is not correctly
matched?

(a) ATYST  3TUMTA ST

Nathula Arunachal Pradesh
(b) fogel@ ZA@Us

lipulekh Uttarakhand
(c) VedmeT fRATIT Ueer

Rohtang Himachal Pradesh

(d) UTeTere e
Palghat Kerala




25. 3EAT 3R AR §uddg d Tad 3% 19
arell AT Pl g2
Which is the highest peak in Andaman and
Nicobar Islands?

(a) s Ui Saddle Peak

(b) HA3C Yool Mount Thuiller
(c) A3 feamarelr Mount diavolo
(d) A3C PR Mount cuckoo




26. N U afEuT $-
Barren Island is located at-

(a) SIS &1 @rar A

In the Bay of Bengal
(b) 3RT AOR A

In the Arabian Sea
(c) HALT AR H

In the Mediterranean
(d) 9T EOR A

In china sea




27. MeReorer €U afeua §-

Sriharikota Island is located at-
(a) redr el & gy
Near Chilka Lake
(b) FETFEY F e & T

mouth of Mahanadi

(c) Gierhe el & FHT

Near Pulicat Lake
(d) MeTaY & He & T

near the mouth of the Godavari




28. THAG YT BT &-

Ram Setu begins-

(8) UFSRITS |

from Dhanushkodi
(b) FASUH &

from mandapam
(c) T &

from Pamban
(d) IHAAIH &

from Rameshwaram




29. T hiew Taarg fhet ar ot & #LT §?
Sir Creek dispute Is between which two countries?
(3) HRI-UTThEATA
India-Pakistan
(b) HBIMTAEATA-UTThETA
Afghanistan-Pakistan
(c) dId-ARAT
China-India
(d) TRT-TTTATCLT
India-Bangladesh




30. R fore oid # &7
In which province is Latur located?
(a) =Y TG
Andhra Pradesh

(b) HASRIE
Maharashtra

(c) A

Gujarat
(d) FET Teer
Madhya Pradesh




31. TAFAIIhd H Pld GAferd el §?
Which of the following is not correctly matched?
(a) HYT-IGRId
Bhil-Gujarat
(b) SNTHRY-3ATEUS
Jaunsari-Uttarakhand
(c) FATT-SAIG
Santhal-Chhattisgarh
(d) EWrAT-A=Te
Khasi-Meghalaya




32. fAFafefaa Saenfaat # 4 la-dF e # U
STl &2
Which of the following tribes is found in Kerala?

(a) T Chenchu
(b) =T Lepcha
(c) SWel Duffle

(d) TR Daffer




33. [Arfaf@d # | Hi9-a1 T a@e AT a8 &2
Which one of the following is not correctly
matched?

(a) MfeAT - I USYU
Bhotia - Uttar Pradesh

(b) @1 - HGET
Khasi - Meghalaya
(c) FUTA - BAIIG
Santhal - Chhattisgarh

(d) e13T - AfdAeTg

Toda - Tamil Nadu




34, Tl & -1l & Ty gatoa e 3R gt
& A U 9T He B YIANT A FEl SR JfAU-
Match List-1 with List-11 and select the correct
answer using the codes given below the lists-

-1 (FUe) -1 (afeat &1 |gorA)

List-1 (Places) List-11 (Confluence of Rivers)
A. TG T 1. HTIIRA-3Tcldheer

Rudra Prayag Bhagirathi-Alaknanda
B.d¢ WA 2. 3Tclchelcl-aeT{chall

Nand Prayag Alaknanda-Mandakini
C.®UI UIWT 3. 3feldhelgl-Tust

Karn Prayag Alaknanda-Pindar

D.ga warer 4. fasuy sem-FHerfehed
Dev Prayag Vishnu Ganga-Mandakini

%e: Code:

(a)
(b)
()
(d)




35. fAeafaf@d # & dla-dr adr m a6 # a1
q T fHerdr &2
Which of the following river does not join river
Ganga from left?

(a) IMAAT Gomti
(b) e’ Ghagra
(c) AT Kosi

(d) |1 Son




36. SEQH 41 fdead & fohd AH d S S §2
By what name is the Brahmaputra river known
In Tibet?
(a) TsIT Padma

(b) ThHAZIT Chakmudug

(c) AT Hemorrhage
(d) |ITGT Sangpo




37. fFafafea & @ Hla-, segs 1 Fwers T4 &
/ afedr g7
Which of the following is/are tributaries of
Brahmaputra?

1. feamar
Dibang
2. HHI

A ST 9T HT Bl YIANT ™ FE 3R |
Give the correct answer using the code given below.

(a) hael 1
only 1

(b) g 2 3R 3
2 and 3 only

(c) dhael 1 3R 3
1 and 3 only

d) 1, 2 3 3
1,2 and 3




38. Taafai@a # @ dld-dl a1 A & IR adl &2
Which of the following river flows towards
west?

(a) 19T Ganga
(b) THer Narmada
(c) Imeradr Godavari

(d) IHAT Yamuna




39. gaAfeard Hifae-
Please match these-
A. deh 1. M
Cuttack Godavari

B. JfQmar 2. faym
Ludhiana Kshipra

C. aiffies 3. HEEG!
Nashik Mahanadi

D. 3coid 4. @ddal
Ujjain Sutlej

(@) A3 B4 C1 D-2
(b) A3 B2 C1 D4
c) A4 B-1 C3 D-2
(d A-1 B2 C3 D4




40. dFgATE el &-

Vembanad lake iIs
(a) Y Ul H
In Andhra Pradesh
(b) T H
In Kerala
(c) 3nfzem &
In Odisha

(d) dfderag &

In Tamil Nadu




41. gg yura fafda @-
Hundru Falls is formed by-
(2) Segradl WX
on Indravati
(b) I W
on Kaveri
(C) o @ (FIUT @) FGT W

Suvarna Rekha (Golden Line) on the river

(d) 304 H 8 PIS A2l

None of the above




42. ARA H WMTH Blelld HAAGA & Ydlg HI AT
feem &-
The general direction of flow of summer monsoon
In India Is-
(a) GI&UT § 3R
South to North
(b) f&uT-ufREr & gfayor-gd
South-West to South-East
(c) SIAUT-gd & Si&or-ufRrs
South-East to South-West
(d) Efayor-ufe & 3aR-yd
South-West to North-East




43. ARA & forg H19T # Fafed Sfach-ddled? ara
ST &7
In which part of India the highest daily
temperature is found?

(a) gdi ™ ueer
East coast
(b) SAFIG Held & ek &1 A
In the Interior areas of Chhattisgarh plain
(c) 3TSA gl A
In the Andaman Islands
(d) TSEATT b ATTAAT &31 A
In the desert areas of Rajasthan




44. RT A TS auT JEIT: UIg Bl §-
India’s highest rainfall is mainly received by-

(a) 3R-Ydl AAGA A
from the north-east monsoon
(b) a9E BT AAHA 8
back from monsoon
(c) GfeIoT-ufRa AT &
from southwest monsoon
(d) gdifee auT g

by conductive rain




45. 3 aur (Mango Shower) EfaT &-
Mango shower is related to-

(a) T FT FioR
Mango shower

(b) JATH bl CUhd]
Mango drizzle

(c) TER U P & AR-3UT H g dTell I
Rainfall in March-April in Bihar and Bengal
(d) 3TH H B
Mango crop




46. SIR@US H qul fohd AAHA & T &2
Which monsoon rains in Jharkhand?

(2) STR-Ydl ATAGA

north east monsoon
(b) gieyor-ufRrel AT

southwest monsoon
(c) ATdEe

Norwester

(d) 304 H 8 PI5 el

None of the above




47. G FT aH TET HEEAT -
() FTATET
(b) =i

(C) HerT
(d) AT




48. TArteriad § 9 i g T A81 a7
(Teed)  (I90)
(2) AT EI<H ST AHTLHT
(b) THRATHRIT A

(C) FTFH  THH AT
(d) Freae  &TSiieT




49, Rofertaa & & & ot qroor wicaeiar A g2
(a) AL HaET
(b) ACTRTHT HRET
(C) FTATER HEETA

(d) TeEI=IT H8eqd




50. fA=ferfeaa & & &9 U agi 27
EOERME ﬁﬁm@ﬁﬁﬁ%’
(b) TETST SfeyofT STHTGERT
(c) TedisT TOW
OEEEE SRR




GEOGRAPHY MARATHON ANSWER KEY

1. D

2. C

3. D

4. D

5 A

6. A

7. B

8. D

9. B

10.B

11.D

12.C

13.B

14.D

15.C

16.B

17.B

18.A

19.A

20.D

21.D

22.D

23.B

24. A

25.A

26.A

27.C

28.A

29.A

30.B

31.C

32.A

33.C

34.B

35.C

36.D

37.D

38.B

39.A

40.B

41.C

42.D

43.D

44.C

45.D

46.B

47.C

48.D

49.D

50.D




